

05020051

$$\frac{9}{\epsilon}a - \frac{w}{\epsilon}b + c = 9a + \epsilon b + c \rightarrow 9a - \epsilon b = \epsilon a + \epsilon b \rightarrow -\epsilon b = \epsilon a$$

$$K + \beta = \frac{-b}{a} = \frac{w}{\epsilon}$$

$$|\frac{\epsilon}{\epsilon}K| = \sqrt{\Delta} = \sqrt{\epsilon K^2 - \epsilon_0} \rightarrow |\frac{\epsilon}{\epsilon}K| = \sqrt{K - \delta} \rightarrow \frac{\delta}{\epsilon}K = \delta \rightarrow K = 9$$

$$[\epsilon, \delta] = \epsilon_0$$

$$\text{exterior: } \frac{+\delta + \epsilon}{\epsilon} = \epsilon \rightarrow \text{ext} \left| \begin{matrix} -1 \\ 1 \end{matrix} \right| \rightarrow -1 = \frac{-b}{\epsilon a} \rightarrow \epsilon a = b$$

$$a - b + c = 1 \rightarrow \epsilon b + c = 1 \rightarrow \epsilon = \sqrt{1}$$

$$K^2 + B^2 = \delta \rightarrow S^2 - \epsilon P = \delta \rightarrow \frac{b^2}{a^2} \epsilon - \frac{\epsilon a + \epsilon}{a} = \delta \rightarrow a = \frac{w}{\epsilon} \text{ and } b = -w$$